



### **About Us – PROCRYPTO TRADE**

**PROCRYPTO TRADE** is a next-generation digital trading platform designed for smart investors and crypto enthusiasts who aim to grow their wealth through advanced technology, market insight, and trusted financial tools.

We combine innovation, transparency, and expertise to make cryptocurrency trading simple, secure, and profitable for everyone — from beginners to experienced traders. Our platform provides real-time analytics, automated trading options, and professional guidance to help users make confident investment decisions in the fast-evolving digital economy.







# Investing in Cryptocurrency



### **ADVANCED TRADING TOOLS**

In today's dynamic financial markets, sophisticated traders are increasingly leveraging a powerful arsenal of advanced tools to gain a competitive edge. These instruments go far beyond



### **SECURE PLATFORM**

When storing your files in the cloud,
look for platforms with zeroknowledge architecture to ensure
that even the provider cannot
access your data.For developers, a
secure platform is one that



PROCRYPTO TRADE

procrypto trade is a nextgeneration digital trading platform
designed for smart investors and
crypto enthusiasts who aim to grow
their wealth through advanced
technology, market insight









Cryptocurrency is transforming the world of finance — offering speed, transparency, and freedom that traditional systems can't match. At **PROCRYPTO TRADE**, we help investors harness these advantages to build stronger and smarter financial futures.

1. Decentralization

Unlike traditional currencies controlled by banks or governments, cryptocurrencies operate on decentralized blockchain networks — giving users full control over their funds and transactions.

2. Security & Transparency

All crypto transactions are recorded on the blockchain — an immutable public ledger. This ensures high-level security, fraud prevention, and complete transparency in every transaction.

◆ 3. Fast & Low-Cost Transactions

Cross-border transfers and payments are faster, easier, and far cheaper than traditional banking systems —

saving time and tra







### WHAT IS LIVE CRYPTO TRADING



Live crypto trading is the **real-time execution of crypto trades** — for example, buying Bitcoin when its price drops or selling Ethereum when it rises — while prices are constantly changing.

Trader Logs In: You use a live trading platform (like Binance, Coinbase, or Bybit).

Market Data Updates: Prices update every second.

Buy or Sell Instantly: You can place market orders (executed immediately) or limit orders (executed when the price reaches your chosen level).

Profit or Loss: Your trade's outcome depends on how the market moves after execution.

Key Features:

How It Works:

- Real-time charts and price feeds
- ← Instant order execution









# FREE

# REGISTER NOW









100\$ to 1000\$

**Daily 1% 2x** 



1000\$ to 3000\$

Daily 1.25% 2x

\$3500 and Above

Daily 1.5% 2x









# Self ids

\$5000

30 level opened



# Types of Income

**Affiliation income Roi to Roi** 

**Salary income** 

Reward





### Affiliation income Roi to Roi





Level	Income
1	15%
2	5%
3	5%
4	4%
5	4%
6	3%
7	3%
8	3%
9	2%
10	2%
11 to 15	1%
16 to 25	0.5%
26 to 30	0.25%

Note- 1 direct 1 level open,10 direct 10 level open if you complete direct business \$3000 all level open with this both conditions







Rank	Salary	Income	Month	<b>Total Income</b>
Starter	\$2500	\$25	10	\$250
Bronze	\$6000	\$60	10	\$600
Silver	\$12000	\$120	10	\$1200
Gold	\$24000	\$240	10	\$2400
Ruby	\$50000	\$500	10	\$5000
Sapphire	\$1Lakh	\$1200	10	\$12000
Emerald	\$4Lakh	\$5000	10	\$50000
Diamond	\$8Lakh	\$10k	10	\$1Lakh
Blue Diamond	\$20Lakh	\$20	10	\$2Lakh



Business Ratio 40%:60%







Rank	Salary	Income	Month	Total Income
Crown Diamond	\$4Lakh	\$5000	10	\$50000
Royal Ruby	\$8Lakh	\$10k	10	\$1Lakh
Platinum	\$20Lakh	\$20	10	\$2Lakh
Titanium	\$40 Lakh	\$40k	10	\$4Lakh
Legend	\$100.Cr	\$1Lakh	10	\$10Lakh
Ambassador	\$400.Cr	\$5Lakh	10	\$50Lakh



Business Ratio 40%:60%



## Rewards



Sr.no	Business	Rewards
1	\$10,000	\$200
2	\$20,000.	\$450
3	\$50,000	\$1000
4	\$1Lakh	\$2200
5	\$5Lakh	\$12000
6	\$10Lakh	\$25000
7	\$20Lakh	\$50000
8	\$50Lakk	\$1Lakh
9	\$100Cr	\$1.5 Lakh + BMW car luxury
10	\$500Cr	\$ 4Lakh + BMW + House fund \$2
11	\$1000Cr	company share 5% total fund (\$50 cr)



Business Ratio 40%:60%



## Terms conditions



- ✓ Profit sharing 1% to 1.5%
- ✓ Sunday withdrawal 10am to 6pm
- ✓ PAYOUT day on Monday
- ✓ Deduction 10% if withdrawal in INR
- ✓ Deduction 5% if withdrawal in USDT
- ✓ minimum withdrawal \$10, maximum no limit
- ✓ working ids 3x capping





